o

Fio

i

o

Ha

0204% VIZF 72 W WINY | |  szeqoEs | | @Qum | (15|
6 The UML20 wolojzgle] wigh wigolth. <u7] 1>
2ZEH0SS J <w7] 2% wesl A2% Ae?
<H7) 1>
. Aol Al A A 722 sk delolagol

FA
fiu)
oo
il
o,
o,

= [e}
O AAZ WMAHAR o5 & 8% 5 J=F F
HHEahaA AT ES S Tiets WY
O wHgAol3 shAQl EmA29t frAeHA T, FH e
FHoR Y 2
O 2XESo] 7fte] 17 Hopdolzhs ] A& Fiu
At | el 24E BE

@ RAD X ¥(Rapid Application Development Model)
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@ =4 ZZA2~(Organization Process)

@ &8 =2 ~(Engineering Process)

Q 1A —FF EZAH2(Customer-Supplier Process)

@ A9 ZZA|2(Support Process)
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A. IE A S HF tholo1@l(Interaction Overview Diagram)
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from abc import ABCMeta, abstractmethod
class Order (metaclass=ABCMeta) :
@abstractmethod
def execute (self):
pass
class BuyStockOrder (Order) :
def (self, stock):
self.stock = stock

__init

def execute(self):
self.stock.buy()
class SellStockOrder (Order) :
def (self, stock):
self.stock = stock

init

def execute(self):
self.stock.sell ()
class StockTrade:
def buy(self):
print (“You will buy stocks”)
def sell (self):
print (“You will sell stocks”)
class Agent:
def init (self):
self. orderQueue = []
def placeOrder (self, order):
self. orderQueue.append (order)
order.execute ()
——

if

__name -

#Client

stock = StockTrade ()

buyStock = BuyStockOrder (stock)
sellStock = SellStockOrder (stock)

#Invoker

main

agent = Agent ()
agent.placeOrder (buyStock)

agent.placeOrder (sellStock)

@ Strategy Pattern
@ Command Pattern

@ Interpreter Pattern
@ Memento Pattern
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@ SPICE(Software Process Improvement and Capability

Aolt}, W)=

L

ot

(stub) — +& — =2} ¥ (driver)
oW (driver) — 7& — 2§ (stub)

3]

b

Lo
=

@
)

14. ®1zke]

RN

=4

2ho| ¥ (driver)

. e

N
ol

@ 2¥(stub) —

H(stub)

N

Ny
of

@ Zg}olu|(driver) —

SEEEEEX

{

System.out.println (“name:”+ name);

{
{

System.out.println (“name:”+ name);
System.out.println(“amount:”+ amount);

printDetails (amount) ;

printBanner () ;

printBanner () ;
Void printDetails (double amount)

Void printOwing (double amount)
Void printOwing (double amount)

System.out.println (“amount:”+ amount);
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